
Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Aritmetica degli esponenti ( Esponenti negativi )

5 + (−5) =2 (−2) + (−3) =0

7 − 8 =(−2) 8 + 3 =

(−7) − 7 =(−1) 5 + 2 =(−2)

3 + 3 =2 (−3) − (−6) =2

4 − (−6) =(−2) 4 + 8 =0

(−2) − 5 =2 3 − (−2) =(−2)

9 − (−2) =2 (−3) + (−7) =(−2)

10 − 7 = (−7) + (−6) =2

(−6) − 1 =2 (−10) + (−3) =

(−2) − 10 =(−2) 10 + 8 =(−1)
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Nome: 　　　　　　　 Data: 　　　　　　 Punteggio: 　　　

Aritmetica degli esponenti ( Esponenti negativi )

5 + (−5) = 202 (−2) + (−3) = (−2)0

7 − 8 = (− ) = (−7 )(−2)

49
391

49
48

8 + 3 = 11

(−7) − 7 = (− ) = (−7 )(−1)

7
50

7
1

5 + 2 = = 2(−2)

25
51

25
1

3 + 3 = 122 (−3) − (−6) = 152

4 − (−6) = = 6(−2)

16
97

16
1

4 + 8 = 90

(−2) − 5 = (−1)2 3 − (−2) = = 2(−2)

9
19

9
1

9 − (−2) = 832 (−3) + (−7) = (− ) = (−6 )(−2)

9
62

9
8

10 − 7 = 3 (−7) + (−6) = 432

(−6) − 1 = 352 (−10) + (−3) = (−13)

(−2) − 10 = (− ) = (−9 )(−2)

4
39

4
3

10 + 8 = = 8(−1)

10
81

10
1
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